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5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.70.60.50.40.30.20.10.0

Fiber 711, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.53.03.5

Fiber 2106, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.4

Fiber 2775, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.00.20.40.60.81.0

Fiber 2566, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.1

Fiber 2990, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.52.01.51.00.50.0

Fiber 4133, dchi2frac= 0.9, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 2953, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

7 6 5 4 3 2 1 0

Fiber 2685, dchi2frac= 0.9



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 5 4 3 2 1 0

Fiber 985, dchi2frac= 0.9, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.050.10

Fiber 726, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 2376, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.10.20.30.40.50.60.7

Fiber 2095, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.5 1.0 0.50.0 0.5

Fiber 4170, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.10

Fiber 707, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.20.40.60.81.01.21.4

Fiber 2290, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

3.5 4.0 4.5 5.0 5.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

4 3 2 1 0 1

Fiber 569, dchi2frac= 0.9, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.00.20.40.60.81.01.2

Fiber 4431, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 910

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3

Fiber 2185, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 2903, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3 4

Fiber 4222, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.000.250.500.751.001.251.50

Fiber 4486, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.0 1.5 1.0 0.50.0

Fiber 2817, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.00.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.00.51.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1

Fiber 1149, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.00.20.40.60.81.01.21.4

Fiber 2018, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 548, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10 12

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3 4

Fiber 2161, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.21.00.80.60.40.20.00.20.4

Fiber 2223, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

4.55.05.56.06.57.07.58.08.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 5 4 3 2 10 1 2

Fiber 4365, dchi2frac= 0.8, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.15

Fiber 2251, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.53.03.54.04.55.05.56.06.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

3.03.54.04.55.05.56.06.57.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 651, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.0 0.5 1.0 1.5 2.0

Fiber 2274, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.0 0.1 0.2 0.3

Fiber 831, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3 4 5

Fiber 4278, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.20.00.20.4

Fiber 1495, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0 0.2

Fiber 1472, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.2 0.0

Fiber 724, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0 1 2 3 4 5 6

Fiber 4295, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.150.20

Fiber 2468, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 4116, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4

Fiber 2135, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.050.000.050.100.150.200.25

Fiber 4080, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.2 0.1 0.0 0.1

Fiber 2543, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.5 3.0 3.5 4.0 4.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

3.02.52.01.51.00.50.00.5

Fiber 4424, dchi2frac= 0.8, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

5.56.06.57.07.58.08.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

7 8 9 10 11 12 13

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

4 3 2 1 0 1

Fiber 2478, dchi2frac= 0.8, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

10.2510.5010.7511.0011.2511.5011.7512.0012.25

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

8 6 4 2 0

Fiber 2268, dchi2frac= 0.8, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 1438, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.30.4

Fiber 1353, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 2826, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.6 0.4 0.20.0 0.2

Fiber 522, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.00.2

Fiber 1134, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.80.60.40.20.0

Fiber 2017, dchi2frac= 1.0


